. T5 WW signal events Predicted Observed
Mee  LrGeVl Hy[GeV] A¢ fw  Binname (1.8(,](1]?3(}Tev (gZ.Z, 0.1)TeV  background events  events
5 [250, 350]  [500, 750] >1 0 GOa 0.84 +£0.23 <0.01 342 +24 333
>1 GOb 0.38 +0.12 <0.01 70+ 8 77
>750 0 Gla 0.23 +0.09 <0.01 292 +22 304
>1 Gl1b 0.15 £ 0.07 <0.01 69 + 10 62
[350,450] [500, 750] >1 0 G2a 1.11+0.29 <0.01 71+8 63
>1 G2b 0.45 +0.15 <0.01 14+5 25
>750 0 G3a 0.34 +£0.12 0.01 +0.01 66+ 8 44
>1 G3b 0.20 £+ 0.09 <0.01 14+4 13
[450,650] [500,750] >0.75 O Gda 1.44 +0.34 <0.01 5247 45
>1 G4b 0.74 +0.19 <0.01 12+3 9
[750, 1250] 0 Gba 0.64 +0.18 <0.01 42+6 35
>1 G5b 0.29 +0.10 <0.01 10+3 6
>1250 0 Gba <0.01 0.07 +0.02 16+3 19
>1 G6b <0.01 0.08 +0.02 3+1 3
>650 [500,1250] >0.5 0 G7a 0.74 +0.20 0.05+0.01 33+8 32
>1 G7b 0.27 + 0.09 0.02+0.01 7+2 8
>1250 0 G8a 0.14 +0.05 0.70 +0.15 11+3 8
>1 G8b 0.04 + 0.02 0.59 +0.13 0.6+04 2
[6,7] [250,350] [500,1000] >1 0 Hla 1.94 4045 <0.01 281 4+ 22 292
>1 Hilb 0.84 +0.22 <0.01 71+9 71
>1000 0 H2a 0.22 +0.09 0.03 £0.01 121 +£11 121
>1 H2b 0.10 + 0.05 <0.01 2945 21
[350, 450] [500, 1000] >1 0 H3a 1.99 +0.45 <0.01 51+6 71
>1 H3b 1.08 +0.26 <0.01 12+3 15
>1000 0 H4a 0.20 +0.08 0.03+£0.01 31+7 21
>1 H4b 0.09 +0.06 0.02+£0.01 6+2 6
[450,650] [500,750] >0.75 O Hb5a 2.08 +0.47 <0.01 19+4 17
>1 H5b 1.13 +£0.27 <0.01 542 9
[750, 1250] 0 Hé6a 1.76 +£0.40 <0.01 29+4 18
>1 Heb 0.98 +£0.24 <0.01 742 4
>1250 0 H7a 0.18 +£0.07 0.19 +0.05 15+3 14
>1 H7b 0.13 +0.06 0.13 +0.03 3+1 1
>650 [500,1250] >0.5 0 H8a 1.62+0.36 0.04 +0.01 13+3 17
>1 H8b 0.60 +0.16 0.03+0.01 4+1 4
>1250 0 H9a 0.50 +£0.13 1.69 +£0.35 943 6
>1 H9 0.27 +0.08 1.324+0.27 2+1 1
>8 [250,350] [500, 1000] >1 0 Ila 0.31+0.11 <0.01 23+5 25
>1 I1b 0.21 +0.08 <0.01 7+3 5
>1000 0 12a 0.14 +0.06 0.02 +0.01 22+5 23
>1 12b 0.06 +0.04 <0.01 8+2 12
[350, 450] [500, 1000] >1 0 I3a 0.41 +0.12 <0.01 3.0+0.7 10
>1 13b 0.17 + 0.06 <0.01 1.1+04 0
>1000 0 I4a 0.23 +0.09 0.03+0.01 5+1 5
>1 14b 0.26 + 0.09 0.03+£0.01 3+1 2
[450, 650] [500,1250] >0.75 0O I5a 0.83 +0.22 <0.01 34+09 4
>1 15b 0.61 +0.17 <0.01 05+03 1
>1250 0 I6a 0.24 +0.09 0.11 £0.03 2.6+0.8 2
>1 I6b 0.12 + 0.06 0.07 £0.02 05+03 2
>650 [500,1250] >0.5 >0 17 0.67 +0.18 <0.01 1.58 +0.63 2
>1250 18 0.81+0.22 1.414+0.30 1.58 +0.71 1




